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The figures in the right-hand margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

1. Answer any p[\questions of the following: 4x2=8

a) Define critical activity and critical path. Determine whether the following
statement is true or false.

In critical path method we determine the shortest path of a project
netvtork.

b) Define the following terms: Optimistic time, Most likely time.

c) State Bellman's principle of optimality.

d) What is present worth factor (PWF). Define lead time.

e) Explain a method to generate random numbers with example.

I The cost pattern for two machines A and B, when money value is not
considered, is given in the table below.

Find the cost pattern for each machine when money is worth 10 per cent
per year and hence, find which machine is less costly.

2. Answer any FOUR questions of the following: 4x4=16

a) A machine costs Rs. 15,000. The running cost for the different years is
given below.
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Category Time
Required

(mins)

No. of Patient

Filline 45 40

Crown 60 15

Cleaning l5 l5
Extractins 45 l0
Check up 15 20

Simulate the dentist's clinic for four hours and determine the average

waiting time for the patients as well as the idleness of the doctor. Assume

that all the patients show up at the clinic at exactly their scheduled arrival

time starting at 8.00 a.m.

Use the following random numbers for handling the above 40, 82, ll, 34,

25, 66, 17 ,79.

d) A salesman located in a city A decided to travel to city B. He knew the

distances of alternative routes from city A to city B. He then drew a

highway network map as shown in the following Figure. The city of origin

A is city 1. The destination city B is city 10. Other cities through which the

salesman will have to pass through are numbered 2 to 9. The arrow

representing routes between cities and distances in kilometres are indicated

on each route. The salesman's problem is to find the shorlest route that

covers all the selected cities from A to B.
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